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N.B. .— (i) Solve Question No. 1 on OMR sheet and first half an hour for

this question.
(1) Question Nos. 1 and 2 are compulsory.
(i11)  All questions carry equal marks.

(tv) Negative marking for wrong answers.
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1. Multiple Choice Questions : 10
g T
(1) In perfect competition there is/are .................. .
(A) Single seller
(B) Many sellers

(C) Large number of sellers and buyers

(D) Few buyers
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(2) Demand curve in perfect competition is ................... .
(A)  Perfectly elastic (B)  Perfectly inelastic
(C) Less elastic (D) More elastic
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3) Which of the following is a characteristic of Monopoly ?
(A)  Only one seller
(B) Price discrimination
(C) Zero advertisement cost
(D) All of the above
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(4) In monopoly there is lack of ...................... .
(A) Competition (B) Buyers
(C) Price (D) None of these
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5) Product differentiation is the feature of the ..................... market.
(A)  Perfect competition (B)  Monopolistic competition
(C)  Monopoly (D) None of these
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The above diagram denotes :
(A) Loss (B) Normal profit
(C)  Surplus profit (D) None of these

¥ A
\ gme (AT
Y M she (d.g)
RN

Cos* Prce 3
C crﬂa:.—zp N SAR. B gy

SMA ‘Gy .
o B %
oLy Pult
(Tt iy )
A ARl geifad
(A) T (B) HIYNO T
(C)  sfadie 1 (D) oAU ARl

P.T.O.



( 4 ) AP—80—2016

7 According to David Ricardo ...................... land is no rent land.
(A)  Original (B) Marginal
(C)  Superior (D) None of these
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(8) The demand of labour depends on :
(A) Demand of the goods produced by that particular labour
(B) Demand for substitute to labour
(C)  Effect of production techniques
(D) All of the above
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9) Lonable funds theory of interest was propounded by ................... .
(A) Wicksell (B) Marshall
(C) Keynes (D)  Hicks
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(10)  According to Prof. Knight, profit is the reward of :
(A)  Uncertainty bearing (B)  Risk bearing

(C) Dynamic changes (D) Innovation
. AR WA, TR § 99 dfRE ST
(A) AfY=aar gl (B) ol Ychivl

(C) TdHE 95A (D) SEYedH



WT ( 5 ) AP—80—2016
Theory
2. What is Monopoly ? Explain its characteristics.
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3. Explain equilibrium of the firm in the short run under perfect competition.
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Or
(feram)
Explain equilibrium of the firm in the long run under monopolistic
competition.
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4. Explain the modern theory of rent.

Or
(fenam)
Explain the Uncertainty Bearing Theory of Profit.
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